r
__‘//; SVC Speed Controller Standard Type

‘I Series AS

In-line Type

[l How to Order
Compact size saves space.

Speed may be accurately
controlled even at low
speeds. Port size
. Area Code Port size Applicable model
Constant speed easily set. ———o M3 | M3x0.5 AS1000
il [,2Pan, Asa M5 | M5 x0.8 AS1000
Retainer prevents NusA 01 | Rov AS2000
N _— 02 Rc1/4 | AS2000, 3000, 4000, 5000
accidental loss of needle. 03 | Rc3/8 | AS3000, 4000, 5000
04 Rc1/2 AS4000, 5000
Body size
1] M3 M5
%% Port thread
e 2 Nil M3, M5
5] 1 N NPT
= F G
Specifications
Proof pressure Note 1) 1.5MPa (1.05MPa)
Maximum operating pressure Note 1) 1MPa (0.7MPa)
- L Minimum operating pressure Not 1) 0.05MPa (0.1MPa)
AS2000 AS1000—M5 R Ambient and fluid temperature —-5° to 60°C (No freezing)
AS1000-M3 Number of needle rotation Note 1) 8 turns (10 turns)

Note 1) ( ): Values for AS1000.

Model
b Free flow Controlled flow e iy .
ort i
JIS Symbol Model & Air flow |Effective area| Air flow |Effective area bore size B
v [émin (ANR)]| (mm?) |[gmin (ANR)]|  (mm?) (mm) ()
7= AS1000-M3 | M3x0.5 20 0.3 20 0.3 25,4,6 4.7
AS1000-M5 | M5x0.8 90 1.4 80 1.2 6, 10, 16, 20, 25 33
AS2000-01 1/8 340 5.2 250 3.8 90
20,25,32,40 ———
AS2000-02 1/4 340 5.2 250 3.8 115
AS3000-02 1/4 810 12.3 810 12.3 130
32,40,50,63 [————
AS3000-03 3/8 810 12.3 810 12.3 124
AS4000-02 1/4 1,670 25.5 1,670 25.5 221
40, 50, 63
AS4000-03 3/8 1,670 255 1,670 25,5 80. 100 214
AS4000-04 1/2 1,670 255 1,670 255 ’ 205
AS5000-02 1/4 2,840 44 2,840 44 242
40, 50, 63 [ oan
AS5000-03 3/8 4,270 66 4,270 66 80. 100 233
AS5000-04 1/2 4,270 66 4,270 66 ' 224
Note) Supply pressure: 0.5MPa, Temperature: 20°C.
Accessories
Description Part No. Applicable model
Nipple M-5N AS1000

Note) AS1000 with nipple: AS1000-M5-N

23



Series AS
Flow Characteristics

AS1000-M3 AS1000-M5 AS2000
Supply pressure: 0.5MPa ‘ ‘ ‘ l | [ | [ ] 35
20 03 80 12 250 T T S
= ‘«“g = Supply pressure: Q.SMPa ‘“E =200 | Supply pressure: 0.5MPa / 3.0 E
z " Pag| [29 7 T 15| |2 [ desg
< o < o =150
< s < A 5 < 420 ©
g 10 40 0.6 0
) S i © o >
s | 2 s \ 2 S.100 / 152
=z 4101 © = / S = 3
8 7 2 & 20 : 032 5 {10
T ° i T =] ] T 50 o5 0
/ ‘ - O.
0 2 4 6 8 10 0 2 4 6 8 10 0 2 4 6 8
Needle rotation (turns) Needle rotation (turns) Needle rotation (turns)
AS3000 AS4000 AS5000
: 1
Supply pressure: 0.5MPa = 25 5000 Supply pressure: 0.5MPa I 70
800 12 ~ /] - w A .
— Supply pressure: 0.5MPa / € :1’500 / 20 % —, 4000 S/ 60 &
= / J10 E = £ = ofl|. E
= £ S 50 £
Z 600 e z / s ES S g
< {18 3§ <, 000 415 § < 3000 A 3
£ 400 . = / 3 < // 0 3
g 4 f’z_’ S 110 ,"2_’ gzooo H 30 f’a_’
44 © 3] 5]
g / 2 g 500 o g / 20 2
2200 v 5 5 2 T i y. =" @
P 7 1 5 1000 -
0 0 /L/
0 2 4 6 8 01 2 3 4 56 7 8 I 0
Needle rotation (turns) Needle rotation (turns) 1.2 3 45 6 7 8
Needle rotation (Turns)
AS1000-M3/Construction
%3 Component Parts
0) No. | Description | Material Note
(1 (D | Body B Brass Electroless nickel plated
® @ | Body Brass | Electroless nickel plated
I fj@ (3 | Needle Brass Electroless nickel plated
@ | Lock nut Brass Electroless nickel plated
T (5 | Handle Brass Electroless nickel plated
. ® | U-packing NBR
® (@ | Needle guide | Brass Electroless nickel plated
O-ring NBR 45x3x0.75
©® | O-ring NBR 22x0.8x0.7
AS1000-M5/Construction
Component Parts
No. Description Material
[©) Body Zinc alloy
@ Needle Stainless steel
©) Lock nut* Brass
[©) Nipple Stainless steel
«Electroless nickel plated
Replacement Parts
No. Description Material Part no.
®) Valve seat Brass 1429138
® U-packing NBR 142964
@ O-ring NBR 29 x 67 x o1
Gasket PVC M-5G1

24



Series AS
AS2000, 3000/Construction

@
" Component Parts
@ o Model
No. Description AS2000 AS3000
(1) |Body Zinc alloy Aluminum alloy
(2 |Needie* Brass Brass
_' B @) |Lock nut* Brass Carbon steel
R ﬁ } Replaceme.nt. Parts a—
No. Description AS2000 AS3000
(3 | valve 143022 14283
(® | O-ring 143021 14284
(® | Spring 143023 14282
«Electroless nickel plated
AS4000/Construction
. Component Parts
W No. Description Material Note
(1 |Body Aluminum alloy Chromated
@ |Cap Rolled steel Zinc chromate
(3 |Head cap screw Steel wire 4x0.7x8
(@) |Etype snapring | Stainless steel | JIS B2805 Nominal 6
(® |Handle Zinc alloy
(® |Ring Steel wire Zinc chromated
(@ | Lock nut Zinc alloy
(® | Needle Aluminum alloy
12 |Oring NBR 143112
LU Replacement Parts
No. Description Material Part No.
© |Vvalve NBR, Brass 143145
D@ @ Wa @ 10 | Spring Stainless steel 143146
(D | O-ring NBR 143147
AS5000/Construction
Component Parts
No. Description Material Note
(1 |Body Aluminum alloy Chromated
2 |Cap Rolled steel Nickel plated
(3 |Head cap screw Steel wire M4 x 0.7 x 8 Nickel plated
(@) |Etype snapring | Stainless steel |JIS B 2805 Nominal 6
(® |Handle Zinc alloy Chromated
(® |Ring Stainless steel
@ |Lock nut Zinc alloy Chromated
(® |Needle Aluminum alloy Chromated
(12 |O-ring NBR JIS B2401 P12
Replacement Parts
No. Description Material Part No.
9 |Valve NBR, Stainless steel 14143
(0 |Spring Stainless steel 14144
() | Packing NBR 14147

25



AS1000-M3/Dimensions

AS1000-M5/Dimensions

Series AS

19 (Max. 21)

‘ “ | 2:03.1
|
114

M3 x0.5 /

2.7

5.5 /

/ Female M5 x 0.8

M3x0.5 / 20 , \
27.5 _ Male M5 x 0.8

AS2000, 3000/Dimensions AS4000/Dimensions
L4 2-1/4 to1/2 29.5
2-Port size g I 1
\ |
~ =
| ST H P o ﬁ>\
S e - : °l e &/
Y © [ re— ——
Tﬁ}'[ !"h - 67.5 s 29
~ \ '
L2 L3 L8 34
L1 2-0D
; | |
&1+ &
Dimensions ® D —1
Model Port si = R
ode ortsize |L1|L2|L3|L4(L5|L6 - T L8| D C ‘ \
AS2000-01 Rc1/8  [40[30] 5 |17 10[15.554.5 50 [ 16 [4.5 50 2M4x0.7
AS2000-02 Rc1/4 [40[30] 5 [23[11.5] 1756 [51.5[ 20 [4.5 Effective thread depth: 6
AS3000-02, 03| Rc1/4,3/8 |56 [45.5[5.25] 25 [13.2[20.6| 68 | 61| 26 [5.5
AS1000-Ms3. AS5000/Dimensions
5
2-1/4 to1/2
63

AS4000-02 to 04 --SAS001,

#7

33

2-M4 x 0.7 Effective thread depth: 7

5 9
e &l

49 7

d TN o)
I W
=

26



%svc Speed Controller Standard Type

‘ISeries AS

Large Flow In-line Type

[l How to Order
Constant speed easily set.

Speed may be accurately

N|AS |42| 0 —

controlled even at low speeds.
R . . d I Port size
etainer prevents accidenta Ares Code Portsize | Applicable model
IOSS Of needle. _Japan—ASIa 02 1/4
Nil Austra’lia, Uk 03 3/8 AS420
Nosr 04 1/2
NJUSA 06 | o9/ AS500
10 1 AS600
) 12 11/4 AS800
Body size 1a 112
42 1/2 20 2 AS900
50 3/4
%# Port thread
o Ee— Nil Rc
90 11/2 N NPT
F PF
Specifications
Proof pressure 1.5MPa
Maximum operating pressure 1MPa
Minimum operating pressure 0.05MPa
Ambient and fluid temperature —5°to 60°C (No freezing)
. Number of needle rotations 10 turns (12 turns Note 1)
L Note 1) ( ): Values for AS800, AS900.
AS420 Model
Free flow Controlled flow
Port Applicabl li Weigh
Model N Airflow |Effectivearea| Air flow |Effective area| ““PPicable cylinder | Weight
size ) ) bore size (mm) (kg)
[¢min (ANR)]|  (mm?) |[¢min (ANR)]| (mm?)
JIS Symbol
AS420-02 1/4 2,500 38 3,600 55 0.34
;ﬁ AS420-03 3/8 5,000 77 4,800 74 63, 80, 100, 125 | 0.33
LO—[ AS420-04 1/2 6,600 100 6,700 102 0.32
AS500-06 3/4 10,100 154 8,100 123 [140, 160, 180, 200| 0.36
AS600-10 1 15,100 230 16,900 258  |160, 180, 200, 250| 0.7
AS800-12 11/4 35,400 540 38,500 586 1.4
AS900-14 11/2 52,000 792 47,500 724 300 3.3
AS900-20 2 57,800 880 60,800 926 3.3
Note) Supply pressure: 0.5MPa, Temperature: 20°C.
Flow Characteristics
AS420 AS500/600 AS800/900
1 T T T T T T It I 1 1 E I ; 1 260 70 - — ¥ ¥ T T = T ¥ T T
Supply pressure: 0.5MPal 'Q, / 100 Supply pressure: O.SMPal // Loy g5j SuPPly pressure: 0~5||V|Ff€;_$_2|0 | {1000
6,000 et 15,000 o 220 60 PETT 900
_ / L0 _ (55?/ 200 g ¥ T Te00
= - <| |E < HM80 x| |2 S AS900- 700 =
2 Rea[ 70 T | |Z Heo E| | 5 45 7/ E
< 4000 +—60 £/ | 10000 / 0S| |2 4 600 .E
£ o St = = = N « x A Y @
£ Rot4ls0 §| |E A S L L8 | =8 17 1500 8
s, 5 = o © 3 S @
o ARy 00 = y L400 ©
s / F40 | |3 y a2l |3 28 S il
T 2,000 b 30 §| |£ 5000 4 / [eq5| |2 2 v/ 300 g
" Log E — / El | = 15 000 &
20 m P - 40 % 0 d P
L1o % 1 L og = o r 100
0 0 0
0“1 23450678910 0 1 23 4586 7 8910 23 456 789101112
Needle rotation (turns) Needle rotation (turns) Needle rotation (turns)

27




AS420, 500, 600/Construction

AS800, 900/Construction

Series AS

Component Parts

No. | Description Material Note

(1 [Body Aluminum alloy Chromated
(@ |Needle Brass —

(3 [Bottom cover| Aluminum alloy Chromated
(@ [Handle Zinc alloy Black painted
Replacement Parts

No. | Description | Material Part no.

' 2 ateral asa20-500]  AS600
(®) |Check valve Brass 14254 14273
® |Spring Stainless steel| 14255 14275

. JISB2401 | JISB2401
@ |O-ring NBR P.7 P.7

. JISB2401 | JISB2401
® |O-ring NBR P.38 P48

AS420, 500, 600/Dimensions

INET}

Component Parts

W\ ] L b
[
! 9
9
] D00 0 000
L1 < oD
Dimensions
Model Port si L1 | L2 L D
ode ort size Max.| Min.
AS420 | 1/4,3/8,1/2 |67.5| 38 | 122 | 112 | 50
AS500 3/4 74 | 42 | 115 | 105 | 50
AS600 1 90 | 55 | 158 | 148 | 62
. SAS001, #8
--SAS001, #9
~-SAS001, #10
--SAS001, #11
~-SAS001, #12
SAS001, #12

2-Port size

No. | Description Material Note

@ | Body Aluminum alloy Chromated

(@ | Valve guide |  Aluminum alloy Chromated

(3 | Check valve Brass Rubber lining

(@ | Needle Brass

(%) | Handle Carbon steel Chromated
Replacement Parts

L . Part no.

No. | Description Material AS800 AS900
® | O-ring NBR JISB2401 P-12 | JISB2401 P-16
@ | O-ring NBR JISB2401 G-50|JISB2401 G-65
® | pring Stainless steel 14115 14124

AS800, 900/Dimensions

2-Port size

]

|

|

L1
Dimensions
Model Port si L1 | L2 S L4
BBtz el Sl Max. | Min.
AS800 11/2 120 | 74 | 204 | 192 | 80
AS900 11/2,2 150 | 93 | 262 | 250 | 94

28



2 S\NC

Speed Controller

‘I1Series AS3500

Locking In-line Type

Lock speed setting, with

the touch of a button

It can be locked only by pushing the
handle after adjustment.

Convenient opening

indication scale

The opening indication scale for the
needle valve is provided on the handle to
facilitate speed adjustments.

Easy speed control at low
flow volume ranges

Possible to control the
mass velocity

Constant knob constructed
of metal to withstand heavy
usage

In addition to the standard handle made
of resin, a heavy-duty metal handle is
also available.

Retainer prevents
accidental loss of needle

AS3500-02

(Resin knob) AS3500-02-2

(Metal knob)

JIS Symbol

29

I How to Order

N|AS3500— || 02 [
Material for knob
Nil Resin
___Area Code 2 Mental
oA ﬁg?rnén/;sﬁk
Nfusa
Port thread %rts%
Nil Rc 03 | a8
N NPT -
F | G
Specifications
Model Resin knob AS3500-02 AS3500-03
Specifications Metal knob AS3500-02-2 AS3500-03-2
Port size 1/4 3/8
Applicable cylinder bore size (mm) 40, 50, 63
Proof pressure 1.5MPa
Maximum operating pressure 1MPa
Minimum operating pressure 0.05MPa
Ambient and fluid temperature —-5°to 60°C (No freezing)
Number of needle rotations 8 turns

Weight 130g (Metallic handle: 140g)
Air flow [¢/min(ANR)] 810
Free flow
Effective area (mm2) 12.3
Air flow [¢/min(ANR)] 810
Controlled flow
Effective area (mm?) 12.3

Note) Supply pressure: 0.5MPa, Temperature: 20°C.

Needle/Flow Characteristics AS3500

Supply pressure: 0.5MPa
800 712

—10 _
=600 E
z {8 £
< 8
= ©
§ 400 y 6 o
z / 1, &
I =
200 v .

L~ 12

— 1 0

0 2 4 6 8
Needle rotation (turns)




B Series AS

Construction Dimensions
25
HJD 14,38 2

: /// (‘2‘5’ —7(,7 -
| Pk @”

= . {E & | f |

2-055 W45.5 5.25 " 26 v

56

Component Parts

No. Description Material Note

@® Body Aluminum alloy Chromated SAS001, #6
@ | Valve NBR

® Cap Rolled steel Electroless nickel plated
@) Needle Brass

POM Black

5 Handle

® Zinc alloy Black
Replacement Parts

No. Description Material Part no.

® O-ring NBR 14284

30



